Sample Paper for the Post of Judicial Assistant (BPS-16)
Written Test: 85 Marks

(Difficulty level of original question paper may vary)

Descriptive Portion (20 Marks)

A: Law Descriptive (10 Marks) (Attempt any 02 gquestions)

Q.1  Describe “Contract” and briefly explain its essentials. (05 Marks)
Q.2 What is public nuisance? What forms of it have been made punishable? (05 Marks)

Q.3 What is the difference between admission and-confession? What rules govern their
use in a trial? (05 Marks)

B: Essay Writing (10 Marks)

Write an essay on “Role of Judiciary in institutional strengthening” (10 Marks)

MCQ Based Test (65 Marks) (Total Questions 65)

A: English (16 Marks / Questions)

Read the following paragraph and answer the next question.

Tailgating another vehicle is unsafe and illegal. Many rear-end collisions are
caused by drivers following too close to the vehicle in front of them. The rules state
that a driver must keep sufficient distance from the vehicle in front in order to stop
safely and avoid a collision. Drivers should allow a minimum two seconds’ gap
between their vehicle and the one ahead. At sixty kilometres an hour, this equates
to thirty-three metres; at a hundred it equates to fifty-five metres. More distance is
needed to safely stop in rain or poor visibility.

Q. Tailgating another vehicle is unsafe because:

a. all rear end collisions are caused by drivers following too close to the vehicle
in front.
b. it may not allow sufficient time and space to stop and avoid a
collision.
C. it is against the road rules.
d. it is a reckless practice.



Q. Passive voice of “"Open the door” is:-

a. Let the door be opened.
b. Door is being opened.
C. You are being ordered to open the door.
d. None of above.
Q. Please chose the correct option.
a. It rained since morning.

b. It has been raining since morning.
C. It is raining for morning.

d. All of above.

Q. Synonym of remote is:-
a. automatic
b. distant
C. savage
d. mean

B: Analytical Reasoning (10 Marks / Questions)

Seven piano students—T, U, V, W, X, Y, and Z—are to give a recital, and their
instructor is deciding the order in which they will perform. Each student will play exactly
one piece, a piano solo. In deciding the order of performance, the instructor must observe
the following restrictions:

X cannot play first or second.

W cannot play until X has played.

Neither T nor Y can play seventh.

Either Y or Z must play immediately after W plays.

V must play either immediately after or immediately before U plays.

Q. If V plays first, which one of the following must be true?



Q

T plays sixth.

b. X plays third.

C. Z plays seventh.

d. T plays immediately after Y.
e. W plays immediately after X.
MS Office (09 Marks / Questions)

While inserting table in MS Word, what is minimum limit of columns and rows?
a. 01 Column and 01 row

b. 02 Columns and 01 row

C. 01 of any

d. 02 Columns and 02 rows

Law (30 Marks / Questions)

Which of the following is not a legal person
a. Company

b. Unborn Child

C. Living human being

d. None of these



